MIDC MAIN AUGUST 2021
(CANDIDATE RESPONSE SHEET)

Roll Number —
Candidate

Examination Name MIDC Clerk Typist Set 01
Exam Date & Time 23-08-2021 08:30:00

Subject : MIDC_CTO01_AUG21_ENG

Question ID:- 1209
Choose from the following given options the correct synonym of the word.

ABANDON
Options:-

sAcquire , Option ID :- 4835,
«Bear , Option ID :- 4834,
«Drop , Option ID :- 4833,

«Hope , Option ID :- 4836,
Answer Given By Candidate:- Drop , Option ID : -4833
Correct Answer :- Drop Option ID :- 4833

Question ID:- 1210
Choose from the following given options the correct antonym of the word.

CANCEL
Options:-

«Abolish , Option ID :- 4839,
«Allow , Option ID :- 4837,
sdelete , Option ID :- 4840,

«void , Option ID :- 4838,
Answer Given By Candidate:- Allow , Option ID : -4837
Correct Answer :- Allow Option ID :- 4837

Question ID:- 1211
Choose from the following options , one word substitution for the given phrase.

That which cannot be seen
Options:-

sApparent , Option ID :- 4843,
«sEye catching , Option ID :- 4841,
«Invisible , Option ID :- 4842,

«Patent, Option ID :- 4844,
Answer Given By Candidate:- Invisible , Option ID : -4842
Correct Answer :- Invisible Option ID :- 4842

Question ID:- 1212

Read the sentence to find out whether there is any grammatical error in it. The error, if
any will be in one part of the sentence. The letter of that part is the answer. If there is
No error, the answer is '4'. (Ignhore the errors of punctuation, if any).

We're going in holiday tomorrow.




Options:-

» in holiday, Option ID :- 4846,
=no error, Option ID :- 4848,
stomorrow, Option ID :- 4847,

«We're going, Option ID :- 4845,
Answer Given By Candidate:- in holiday, Option ID : -4846
Correct Answer :- in holiday Option ID :- 4846

Question ID:- 1213
Choose the appropriate option to complete the given sentence.

I got up earlier than usual I had to get the 6.30 train.
Options:-

safter, Option ID :- 4852,
sbecause , Option ID :- 4849,
smore , Option ID :- 4850,

«until , Option ID :- 4851,
Answer Given By Candidate:- because , Option ID : -4849
Correct Answer :- because Option ID :- 4849

Question ID:- 1214

Read the sentence to find out whether there is any grammatical error in it. The error, if
any will be in one part of the sentence. The letter of that part is the answer. If there is
No error, the answer is '4'. (Ignore the errors of punctuation, if any).

She was in very tense as she waited for the interview.
Options:-

«for the interview., Option ID :- 4856,
sshe waited, Option ID :- 4855,
«She was in, Option ID :- 4853,

svery tense as, Option ID :- 4854,
Answer Given By Candidate:- very tense as, Option ID : -4854
Correct Answer :- She was in Option ID :- 4853

Question ID:- 1215
Complete the analogy from the following given options.

About: bout:: : mend
Options:-

«Amend , Option ID :- 4858,
sAttend , Option ID :- 4857,
smade , Option ID :- 4860,

smore , Option ID :- 4859,
Answer Given By Candidate:- Amend , Option ID : -4858
Correct Answer :- Amend Option ID :- 4858

Question ID:- 1216
Choose the correct option that represents the dictionary arrangement of the given
words (in order of A to Z).

— incredible, indiscriminable, incompatible, indoctrinate, invulnerable.
Options:-




sincompatible, incredible, indiscriminable, indoctrinate, invulnerable , Option ID :
4861 ,

sindiscriminable, invulnerable, indoctrinate, incompatible, incredible , Option ID :
4863,

sindoctrinate, incredible, indiscriminable, incompatible, invulnerable , Option ID :
4864 ,

sindoctrinate, incredible, indiscriminable, invulnerable, incompatible , Option ID :
4862,

Answer Given By Candidate:- incompatible, incredible, indiscriminable, indoctrinate,
invulnerable , Option ID : -4861

Correct Answer :- incompatible, incredible, indiscriminable, indoctrinate, invulnerable
Option ID :- 4861

Question ID:- 1217
Choose from the following options, the ANTONYM of the given word.

—LEANING
Options:-

«Bias , Option ID :- 4868,
sDisinclination , Option ID :- 4865,
sInclination, Option ID :- 4866,

«Tilt , Option ID :- 4867,
Answer Given By Candidate:- Disinclination , Option ID : -4865
Correct Answer :- Disinclination Option ID :- 4865

Question ID:- 1218
Fill in the blank using the appropriate option.

The abandonment of the island followed tests in the area.
Options:-

salthough , Option ID :- 4872,
sdelicious , Option ID :- 4870,
snhuclear, Option ID :- 4871,

ssentence , Option ID :- 4869,
Answer Given By Candidate:- nuclear, Option ID : -4871
Correct Answer :- nuclear Option ID :- 4871

Question ID:- 1219
Complete the analogy from the following given options.

Scabbard: Sword :: Quiver:
Options:-

sArrow , Option ID :- 4873,
«Binocular , Option ID :- 4875,
«Gun , Option ID :- 4874,

sSpectacles , Option ID :- 4876,
Answer Given By Candidate:- Arrow , Option ID : -4873
Correct Answer :- Arrow Option ID :- 4873

Question ID:- 1220
Choose from the following given options the correct punctuation in the sentence.

Why do they make so many mistakes




Options:-

«"Why do they make so many mistakes." , Option ID :- 4880,
« Why do they ,make so many mistakes , Option ID :- 4879,

« Why do they make so many mistakes! , Option ID :- 4878,

« Why do they make so many mistakes? , Option ID :- 4877,
Answer Given By Candidate:- Why do they make so many mistakes? , Option ID : -4877
Correct Answer :- Why do they make so many mistakes? Option ID :- 4877

Question ID:- 1221
Choose from the following given options the meaning of the idiom phrase.

Get rid of
Options:-

«Dispose of , Option ID :- 4882,
«Invite somenone, Option ID :- 4881,
sNone of these , Option ID :- 4884,

« To begin to do something , Option ID :- 4883,
Answer Given By Candidate:- To begin to do something , Option ID : -4883
Correct Answer :- Dispose of Option ID :- 4882

Question ID:- 1222
Read the passage carefully and the answer the question from the following given
options.

Eskimos live in the polar areas. They are not usually tall but they have powerful legs
and shoulders. They have a common language and can understand members of
another group although they may come from many thousands of miles away. Marriage
is by mutual consent. They do not have a special marriage ceremony. Eskimos live by
hunting and fishing. The Eskimo snow house, which is called igloo, is very well-known,
but in fact, Eskimos usually live in houses made of wood and turf. When they are not
hunting and working, Eskimos like to carve. They use ivory and wood and they often
make very beautiful objects.

Q) What activities do Eskimos engage in during their spare time?
Options:-

sNone of these , Option ID :- 4888,

s They carve and make beautiful things using wood and ivory during their spare time.,
Option ID :- 4887,

s They do hunting. , Option ID :- 4885,

«They walk thousands of miles away. , Option ID :- 4886,

Answer Given By Candidate:- They carve and make beautiful things using wood and
ivory during their spare time. , Option ID : -4887

Correct Answer :- They carve and make beautiful things using wood and ivory during
their spare time. Option ID :- 4887

Question ID:- 1223
Fill in the blank using the appropriate word from the following given options.

The baseball game was canceled the heavy rain.
Options:-

safter , Option ID :- 4891,
«from , Option ID :- 4892,
sonto , Option ID :- 4889,




supon , Option ID :- 4890,
Answer Given By Candidate:- after , Option ID : -4891
Correct Answer :- after Option ID :- 4891

Question ID:- 1224
Find the correctly spelt word among the given options.
Options:-

« Milionaire, Option ID :- 4895,
« Millionaire, Option ID :- 4896,
« Millionair, Option ID :- 4893,

« Millionnaire, Option ID :- 4894,

Answer Given By Candidate:- Millionaire, Option ID : -4896
Correct Answer :- Millionaire Option ID :- 4896

Question ID:- 1225
Choose from the following given options the correct punctuation in the sentence.

I told you not to feed that dog
Options:-

«I told you not to feed that dog ? , Option ID :- 4899,
«I told you not to feed that dog!, Option ID :- 4900,
«I told you not to feed that dog' , Option ID :- 4898,

«I told you not to feed that dog. , Option ID :- 4897,
Answer Given By Candidate:- I told you not to feed that dog. , Option ID : -4897
Correct Answer :- I told you not to feed that dog! Option ID :- 4900

Question ID:- 1226
Choose the appropriate option which can best relate the given words/sentence.

A company whose main business is producing goods
Options:-

sArrival , Option ID :- 4901,
«Industrial , Option ID :- 4902,
«Magical , Option ID :- 4904,

«Survival , Option ID :- 4903,

Answer Given By Candidate:- Industrial , Option ID : -4902
Correct Answer :- Industrial Option ID :- 4902

Question ID:- 1227
Choose from the following given options the meaning of the idiom phrase.

Lean and mean
Options:-

sefficient , Option ID :- 4908,
s To destroy something , Option ID :- 4905,
sunproductive , Option ID :- 4907,

sunprofitable , Option ID :- 4906,
Answer Given By Candidate:- To destroy something , Option ID : -4905
Correct Answer :- efficient Option ID :- 4908

Question ID:- 1228
Find the correctly spelt word among the given options.




Options:-

sBereaucracy, Option ID :- 4910,
«Bueracray, Option ID :- 4911,
«Bureacracy, Option ID :- 4909,

«Bureaucracy, Option ID :- 4912,
Answer Given By Candidate:- Bureaucracy, Option ID : -4912
Correct Answer :- Bureaucracy Option ID :- 4912

Subject : MIDC_CTO01_AUG21_MAR

Question ID:- 259
319N ISATA HIST Gl HIolT BIdl.

(sremfiaa grscren U= 9166 fe1a1.)
Options:-

«31%q9 , Option ID :- 1033,
»361 , Option ID :- 1035,
«3ic , Option ID :- 1036,

«251 , Option ID :- 1034,
Answer Given By Candidate:- s, Option ID : -1035
Correct Answer :- st Option ID :- 1035

Question ID:- 260
'erxcdl’ a1 orsgIen Alew uRIRMl 9reg WIvIAT B?
Options:-

ssi3fler , Option ID :- 1040,
«c3 , Option ID :- 1039,
«uoRR , Option ID :- 1038,

wdiciol , Option ID :- 1037,
Answer Given By Candidate:- swiier , Option ID : -1040
Correct Answer :- siflor Option ID :- 1040

Question ID:- 261
AeKdL P set Il Vel Plol H I .

(sremBaa erscrcn fRegrelf orss ferar.)
Options:-

w31cur , Option ID :- 1042,
ofoicr , Option ID :- 1043,
sdlcoft , Option ID :- 1041,

«21Iau1 , Option ID :- 1044,
Answer Given By Candidate:- foict , Option ID : -1043
Correct Answer :- foict Option ID :- 1043

Question ID:- 262
Siigel IRSIA 3RIATGN 31 BIT UVT ACHHD SIIeTT 3113.

(f¥o1e=1 Sieht Ats=r urRIler forast.)
Options:-




w3otef , Option ID :- 1047,
@ , Option ID :- 1048,
«uref , Option ID :- 1046,

o218f , Option ID :- 1045,
Answer Given By Candidate:- seief , Option ID : -1047
Correct Answer :- sref Option ID :- 1047

Question ID:- 263
"dght ot fidl’ o or1 sevraa?
Options:-

»3c@IGIel , Option ID :- 1051,
w312z , Option ID :- 1052,
s ot , Option ID :- 1050,

so1us , Option ID :- 1049,
Answer Given By Candidate:- wara , Option ID : -1050
Correct Answer :- wora Option ID :- 1050

Question ID:- 264
' HoIIdcAT STISEl AP0 ATATST AV 916G AT
Options:-

worur , Option ID :- 1053,
wolise , Option ID :- 1055,
w393 , Option ID :- 1054,

« 3911 , Option ID :- 1056,
Answer Given By Candidate:- fagas1s1 , Option ID : -1056
Correct Answer :- @asgar Option ID :- 1056

Question ID:- 265
galel dara:rcI Yo Gl

'St rd AL s vt ardl'.
Options:-

w3sirelf , Option ID :- 1057,
«3grreff , Option ID :- 1060,
wgecireff , Option ID :- 1058,

« femerreff , Option ID :- 1059,
Answer Given By Candidate:- faemameff , Option ID : -1059
Correct Answer :- faemomeff Option ID :- 1059

Question ID:- 266
Sical GIel dIaRl I9RIMeaRll IRRITel SIIScIcll 3RIATd Aol I AIdRIKT YdbIR BITAr?
Options:-

s Bad arar , Option ID :- 1063,
«f3r9] ara=r , Option ID :- 1062,
» fermotreff ara=r , Option ID :- 1064,

» 3w araa , Option ID :- 1061,
Answer Given By Candidate:- 3y aax , Option ID : -1061
Correct Answer :- g araa Option ID :- 1061

Question ID:- 267




"HeI9ATH IS ffeRI 3RBUIG SIIel .

i siididdler 3 o
Options:-

»31gd , Option ID :- 1068,
s> , Option ID :- 1065,
«dliz , Option ID :- 1066,

soricaq, Option ID :- 1067,
Answer Given By Candidate:- oria, Option ID : -1067
Correct Answer :- gria Option ID :- 1067

Question ID:- 268
ALl AU 3MIell Il F8ULal dl 9Iadd Slcll olldl.

(sremf3aa oresrdl S 3ii@ar)
Options:-

»33RIG<RA 3rrr , Option ID :- 1070,
s fopznfaorgur , Option ID :- 1069,
» DacgRiel sizrr , Option ID :- 1072,

s 91sG2Iehl =R , Option ID :- 1071,
Answer Given By Candidate:- ssrmea=il srezrer , Option ID : -1070
Correct Answer :- 3srioasil srzrr Option ID :- 1070

Question ID:- 269
Sicsl il fipamucaz 3imucll g darcadl dosl daIgIId DIVIAT YAIBT 3R1dA1?
Options:-

s>dd , Option ID :- 1073,
«poivfl , Option ID :- 1074,
9@ , Option ID :- 1075,

«Awd® , Option ID :- 1076,
Answer Given By Candidate:- @=od$ , Option ID : -1073
Correct Answer :- =d$ Option ID :- 1073

Question ID:- 270
'3i2150T urgel URI WRRIAA" A1 Fevitar sref ora?
Options:-

» 3ieReuIredl cidl sanrddt , Option ID :- 1077,
w 3ierBUNaR UrI R , Option ID :- 1079,
» 3TUCAT Yudlygiol et ow2rar , Option ID :- 1080,

» URI 3i¢Revlren a132 wkid , Option ID :- 1078,
Answer Given By Candidate:- smucen Sudiggmor < oserar , Option ID : -1080
Correct Answer :- smucan Yudiygot < w2rar Option ID :- 1080

Question ID:- 271
'1e1" AT ARIAIUR]ST 3RAcIcll 80T 3Bl
Options:-




2 U EIIol <Ial arsid oidl , Option ID :- 1084,
»3Id graaul , Option ID :- 1082,
» BIAIS @IcT wieul , Option ID :- 1081,

» BIATCIT BBAT MIOT srrarcn dear , Option ID :- 1083,
Answer Given By Candidate:- oo sl cdl asa oiél , Option ID : -1084
Correct Answer :- uo sl cad@l arsid oiét Option ID :- 1084

Question ID:- 272
1% goIdId? AT Hetioft

(f¥oore=n siEht Als=r aragaR @rcr)
Options:-

w310t AR , Option ID :- 1085,
w3lctpl et , Option ID :- 1087,
310 33ccr , Option ID :- 1088,

«fiq w1ea , Option ID :- 1086,
Answer Given By Candidate:- swcrat @ser , Option ID : -1087
Correct Answer :- srcaat @wer Option ID :- 1087

Question ID:- 273
"1 AT GRIAIURIS dIqydnR ferar.
Options:-

saurol , Option ID :- 1091,
«3Iq got , Option ID :- 1092,
»3Id caraul , Option ID :- 1090,

« 3IaNR arqul , Option ID :- 1089,
Answer Given By Candidate:- arasn= cmaur , Option ID : -1089
Correct Answer :- sraur amav Option ID :- 1089

Subject : MIDC_CTO01_AUG21_MAR_P1

Question ID:- 275
AR Aol Yl 3w ol

siifeiftres foacist aarauardl weuelr 5. A. 239¢ #HEA Acidlol AL Hisvard sirchl. ufdal siifeiftre fesdsr, fererca siifeiftrs
Ao G2 AR aufell ard. 3 Aol urd a1 arerd. s. A1. gd vve 31ed 3 AIel sl olic 3fR1 o= sfersrRa
AUSd. cIdd! Fudla aerdl slvrm=n Warsdl, 3iiferos g Gidkdl dAr@ arge siivd duAard Ad 3R1. A athie s
9183 WRITRIcIIeT NGHId faRIReol AT IULIDIRI Yois FAPIA B AT ARGl HBISOIl ASERT AVRTARHIIT el AT
ol fdid 3RI. g 3fid Addr - 311 3iIell 0T RIIeRIR 5. 3. gdl. 3%¥% #Aed 3 Al §g UScl.

geot: ufel siffeiftre foacist ®Id aerquanda 3icr?
Options:-

«3fir , Option ID :- 1100,

woRifs , Option ID :- 1098,

«dicialof , Option ID :- 1097,

«Rrscft , Option ID :- 1099,
Answer Given By Candidate:- Jiadist , Option ID : -1097
Correct Answer :- Jiadist Option ID :- 1097

Question ID:- 276
AR Aol Yol 3w} ol




siifeiftres foacist aarauardl wouetr 5. 1. 238¢ }EA Acidlol A ATSUAIA 3Ichl. ufdal siifeiftres facisr, fererca siifeiftras
AR g2 AR qufefl Flara. 3 AR urd a1 arad. s. A. gd vug 31 3 Aol sticardl oiic sfi1 Sonmen sfersrira
AUSA. Arddl FULd A9l = Worsdl, 3iifclos eI Bkl Ao wlciol sTRd BUAN Ad 3R1. {1 Hefiel sold
9183 WRIRIcIIeT NGHId faRIRsol AT FULiDIRI Yois FAPIA B AT ARGl HBISOIl ASERT AVRTARHIIT el HATeIRT
1ol [did 3RI. g 3fid Iddr - 11 Sirell 0T RIIeRIR 5. 3. gdl. 39¥% #Aed 3 ANl §g Uscl.

gt siifeiftrs e fpddt Raw arcaa?
Options:-

«ar , Option ID :- 1101,

«ura , Option ID :- 1102,
w331, Option ID :- 1103,

«a1d , Option ID :- 1104,
Answer Given By Candidate:- ura , Option ID : -1102
Correct Answer :- ura Option ID :- 1102

Question ID:- 277
AR Aol Yol 3 ol

siifeiftrep foacsr aarauIrdl docustt 5. . 238¢ LA Acadlol AA Alsv=IIA 3irctl. ufda siifeiftrep feacist, ferercra siifeiftrs
ARSI ¢ AR qufefl Flarda. 3 AR ure a1 arad. s. A. gd vug 31 3 Aol sticardl siic sfi:1 Somn sfersrira
AUSA. AIddl FULd A9l =N Wersdl, 3iifcos eI Bkl Ao wlciol sTRd BUANA Ad 3R1. {1 Hefiel sold
9183 WRIRIcIIeT NI faRIRsol AT FULiDRI Yois FAPIA B AT ARGl WBISOIl ASERT AVRTARHIT el AT
1ol [did 3RI. g 3fid Iddr - 11 sirell 0T RIeRIR 5. 3. gdl. 33¥% #Aed 3 ANl dg Uscl.

gosl: DIvIcAl S9N sfersrRiid siifeiftres smiol sirerardt sl sma?
Options:-

wSocis , Option ID :- 1106,
« 3iifeifres féscrsr , Option ID :- 1107,
«3fia1 , Option ID :- 1108,

s 3Jictalof , Option ID :- 1105,
Answer Given By Candidate:- sffr, Option ID : -1108
Correct Answer :- sfiax Option ID :- 1108

Question ID:- 278
AR Aol Yol 3w} ol

siifeiftrep foacsr aarauIrdl docustr 5. . 238¢ LA Acadlel AA Alsw=IA 3irctl. ufda siifeiftre féacist, ferercra siifeiftrs
AR ¢ AR qufefl Flara. 3 AR urd a1 arad. s. A. gd vug 31 3 Aol sticardl siic sfi:1 Somen sfersrira
AUSA. Arddl FULd A9l = Wersdl, 3iifcos eI Bkl Ao wlciol STRd BUANA Ad 3R1. {1 Hefiel sold
9183 WRIRIcIIeT NI faRIReol AT FULiDR Yois FAPIA B AT ARGl WBISOIl ASERT AVRTARHIIT a5l AT
ool [died 3RI. g 3fi Iddr - 11 3irell 01 RIeRISR 5. 3. gdl. 33¥% #Aed 3 ANl §g Uscl.

gool: a9Rdl WSS SNARIS] DIVICAT &I SUAIST 815 ?
Options:-

wdiiferes , Option ID :- 1111,

suca , Option ID :- 1112,

«Biét , Option ID :- 1109,

w316 , Option ID :- 1110,
Answer Given By Candidate:- siifctes , Option ID : -1111
Correct Answer :- siifercs Option ID :- 1111

Question ID:- 279
IARI diRJel YoIichl IR Mol




siifeiftrep foaclsr axarauIrdl docustr 5. . 238¢ LA Actdlcl AA Alsv=IA 3irctl. ufda siifeiftre féacist, ferercra siifeiftrs
AR g2 IR qufofl Blara. 3 AP ur a1 ared. . A. gd Wve #1EA 3 Aol sicardl slic 3fi1 Somn sfersrRira
AUSA. Arddl FULlda A9rdl =N Wersdl, 3iifclos gairAr Bidkil Ao wlciol sTiRd BUAN Ad 3R1. {1 Hefiet sold
9183 WRIRIcIIeT NI faRIRsol AT FULiDR Yois FAPIA B AT ARGl WBISOIl ASERT AVRTARHIIT el AT
ool [did 3RI. g 3fid Fddn ~8IR1 Siiel iU RIIeRIsR 3. 3. gdl. 33¥ #1¢A 3 A6l §¢ Usal.

gest: 'Rget’ A gresran fasgrefl Blvrdr 916G Iar=amd 3irer 3ma?
Options:-

w30l , Option ID :- 1114,
«Jais , Option ID :- 1113,
wA9dl , Option ID :- 1115,

«3R1 , Option ID :- 1116,
Answer Given By Candidate:- gyas , Option ID : -1113
Correct Answer :- gas Option ID :- 1113

Subject : MIDC_CTO01_AUG21_GK

Question ID:- 1666
Kabaddi is national sport of which of the following countries?

DAZSE BT WIciicTichl DBIVICIT SIFIT ASERT W 3?2
Options:-

«Bangladesh / sisrarcer, Option ID :- 6661 ,
«Bhutan / sjarst, Option ID :- 6664 ,
«Pakistan / uifeszarms, Option ID :- 6662,

«Sri Lanka / oficimr, Option ID :- 6663,
Answer Given By Candidate:- Bangladesh / sisienicer, Option ID : -6661
Correct Answer :- Bangladesh / sisiciicer Option ID :- 6661

Question ID:- 1667
The Taj Mahal is situated on the banks of which of the following river?

Hrcficitidhl DIV oISIAT dcIdr drsIHAsIc dIcidl 313?
Options:-

«Indus / Rig, Option ID :- 6665,
«Ravi / €, Option ID :- 6668,
sSutlej / saas:, Option ID :- 6666,

«Yamuna / agen, Option ID :- 6667,
Answer Given By Candidate:- Yamuna / sgen, Option ID : -6667
Correct Answer :- Yamuna / zgion Option ID :- 6667

Question ID:- 1668
Maharashtra is bounded to the north by which of the following Indian state?

ABRISCICI IAIDS FTciicTidbl DIvIe MRdRI Isaicen o Fuof wara?
Options:-

«Chhattisgarh / s+iissic , Option ID :- 6669,

«Goa / snar, Option ID :- 6670,

«Madhya Pradesh / aga ggor, Option ID :- 6672,

s Telangana / dciston , Option ID :- 6671,
Answer Given By Candidate:- Madhya Pradesh / siear ggor , Option ID : -6672
Correct Answer :- Madhya Pradesh / &g ggor Option ID :- 6672




Question ID:- 1669
Who among the following is the present Union Finance Minister of India?

rciicitidbl A MRAr DERI srefscdl ot sma?

Options:-

«K. R. Puri / @&. am=. g8 , Option ID :- 6676,

«Nirmala Sitharaman / fopfcn ftarmee , Option ID :- 6675,
«Smriti Zubin Irani / 3l geior sevfl, Option ID :- 6674,

«Urjit Patel / sifa uea, Option ID :- 6673,
Answer Given By Candidate:- Nirmala Sitharaman / fowiar fiarpor , Option ID : -6675
Correct Answer :- Nirmala Sitharaman / fowfer fiarirer Option ID :- 6675

Question ID:- 1670
Which of the following football team won Copa America Cup 2021?

rcllertichl DIV Bedid Adarol iUt sfsod dou 2021 Rigar?
Options:-

sArgentina / siifeenr, Option ID :- 6678,
«Brazil / gshia, Option ID :- 6677,
«Portugal / uxdsnmer, Option ID :- 6679,

«Uruguay / s=sa, Option ID :- 6680,
Answer Given By Candidate:- Argentina / smiféen, Option ID : -6678
Correct Answer :- Argentina / swiféar Option ID :- 6678

Question ID:- 1671

Which of the following digital platform has been launched by the Government of India
in July 2021 to facilitate farmers to get ‘right information at right time’ in their desired
language?

R IRDRA eI 2021 71 Iam=iel =i skRed simdda "Aew dd A afddl’ RBraauart Frcliatid! oo
BfSrea wicwid cfa da?
Options:-

«Kheti Sahayak / sl s , Option ID :- 6683,
sKisan Sarathi / fooarmor areft , Option ID :- 6681,
«Krishak Saathi / ©uws zmeft, Option ID :- 6682,

«None of these / artidt vawdl adl , Option ID :- 6684,
Answer Given By Candidate:- Krishak Saathi / u® a1eft, Option ID : -6682
Correct Answer :- Kisan Sarathi / fopammer zm=eft Option ID :- 6681

Question ID:- 1672
Bhimashankar Wild Life Sanctuary is located in which of the following Indian state?

HrcticTtdd] MIRATRIT DIVIRIT AT HHATIDBT PRIV GRACIcl 13?
Options:-

«Haryana / sftxmon, Option ID :- 6687,

«Madhya Pradesh / aga ggor, Option ID :- 6685,
«Maharashtra / ssrrg , Option ID :- 6688,

sRajasthan / emsr , Option ID :- 6686,
Answer Given By Candidate:- Maharashtra / ssri¢ , Option ID : -6688
Correct Answer :- Maharashtra / sisriec Option ID :- 6688

Question ID:- 1673
The famous collection of poems "Gitanjali" was written by whom among the following?




gR1g wrcaesg sfidisicll” mrclicriidt wivfl feifzar sms?
Options:-

«Bal Gangadhar Tilak / s® sienerr Raas, Option ID :- 6691,
«Munshi Premchand / g9ft 9arcic, Option ID :- 6692,
«Rabindranath Tagore / dicene ez, Option ID :- 6689 ,

«sSwami Vivekananda / zapil fadwereic, Option ID :- 6690,
Answer Given By Candidate:- Rabindranath Tagore / digene iz, Option ID : -6689
Correct Answer :- Rabindranath Tagore / digomer cenz Option ID :- 6689

Question ID:- 1674
Which among the following indicates the colour of number plates of commercial
vehicles?

Hrcficitichl BIVIRN PR oidR Wic RIGARIP dIgel RICIT goffdrara?
Options:-

«Red background with black characters / oo sigrizis e urdsgit , Option ID :- 6696 ,
« White background with black characters / @ sigriRiz uics urdspit, Option ID :- 6695,
« White background with Yellow characters / fiaeen sigriziz uicst urdspi, Option ID :- 6694

4

«Yellow background with black characters / wion sigRiziz fiadt urdsgit , Option ID :- 6693,
Answer Given By Candidate:- Yellow background with black characters / ®1e sigRizie
fradl uredssht , Option ID : -6693

Correct Answer :- Yellow background with black characters / @o sigrizie fiadt urdsght
Option ID :- 6693

Question ID:- 1675
The Second Battle of Panipat was fought in the year

urforada g g5 Archt cear ial.
Options:-

«1526, Option ID :- 6698,

=« 1556, Option ID :- 6700,
«1757, Option ID :- 6699,

«1761, Option ID :- 6697,
Answer Given By Candidate:- 1556, Option ID : -6700
Correct Answer :- 1556 Option ID :- 6700

Question ID:- 1676
Which of the following is the currency of Nepal?

olUIgd <Uclofl ollv) Wiciliciidsl Bl 31137?
Options:-

«Nepalese Dollar / aurdi Sferz, Option ID :- 6701,
«Nepalese Euro / aurdl 31 , Option ID :- 6704,
sNepalese Pound / sumdl uss, Option ID :- 6702,

sNepalese Rupee / sumdl wdi, Option ID :- 6703,
Answer Given By Candidate:- Nepalese Rupee / aumdl =tl, Option ID : -6703
Correct Answer :- Nepalese Rupee / surdl =dl Option ID :- 6703

Question ID:- 1677
Which of the following represents the planets in the increasing order of their distance
from sun?




Hrcilertich! DIV IA_TURIE R decal AT 3idRIdld sfgid yferforférea wa?
Options:-

«Mercury, Earth, Jupiter / gz, gedi, s , Option ID :- 6705,
sNone of these / aiantidl vaédl oiidl , Option ID :- 6708,
«Uranus, Mars, Pluto / ¥y, 3isi®, wicl, Option ID :- 6706 ,

«Venus, Saturn, Jupiter / 9@, 9ife1, 355 , Option ID :- 6707,
Answer Given By Candidate:- None of these / =icanticd vawél aiél , Option ID : -6708
Correct Answer :- Mercury, Earth, Jupiter / g&1, gedi, s Option ID :- 6705

Question ID:- 1678
"Swachh Bharat Abhiyan" was launched by prime minister Narendra Modi on the
occasion of birth anniversary of which of these leaders?

DIV ol SRiddien fSasht dayens si¥g A1 Aich "'race urda sifirier” Mda I defl?
Options:-

«Jawaharlal Nehru / smaszarma sisw , Option ID :- 6712,

«Mahatma Gandhi / swican stieht , Option ID :- 6710,

sRabindranath Tagore / digome cenz, Option ID :- 6711,

sSardar Patel / sawcr uwea, Option ID :- 6709,
Answer Given By Candidate:- Mahatma Gandhi / seican sni¢hi , Option ID : -6710
Correct Answer :- Mahatma Gandhi / s@rican stieit Option ID :- 6710

Question ID:- 1679
Who among the following was the first to win Dadasaheb Phalke Award?

Hicilertichl DIvIc Rebletl Adid ufdell SICRIBY BIlod YRDR fdoren?
Options:-

«B. N. Reddy / i var. 3581, Option ID :- 6716,
«Devika Rani / 2fawr 2oft , Option ID :- 6713,
« Prithviraj Kapoor / gedizre gz , Option ID :- 6715,

«Satyajit Ray / scafSia == , Option ID :- 6714,
Answer Given By Candidate:- Prithviraj Kapoor / gedist gz , Option ID : -6715
Correct Answer :- Devika Rani / gfawmr 2ioff Option ID :- 6713

Question ID:- 1680
Among the following, who was the first Indian to travel to space?

siafseiren yar1 iR Frciicaidt ufda sirdi ol ala?
Options:-

«A. P. J. Abdul Kalam / u. di. 3. 3reget wers, Option ID :- 6719,
«Kailasavadivoo Sivan / darmaifeq Rrast , Option ID :- 6717,
«None of these / ainitidt vadl aidl , Option ID :- 6720,

sRakesh Sharma / s ot , Option ID :- 6718,
Answer Given By Candidate:- Rakesh Sharma / saor orif , Option ID : -6718
Correct Answer :- Rakesh Sharma / zia9r eraf Option ID :- 6718

Question ID:- 1681

In Australian Open 2020 whom did Novak Djokovic defeated to win his 17th grand slam
title?

sifegferme sitaar 2020 #e suet 17 a1 315 ¥ YR Riddloll olicald SIIdIfdiel DBIVITCIT UA3Id el ?
Options:-




sDominic Thiem / sififors fores, Option ID :- 6722,
«Rafael Nadal / wa sierer, Option ID :- 6723,
sRoger Federer / isr wsz , Option ID :- 6721,
«Stan Wawrinka / & amafior, Option ID :- 6724,

Aoy

Answer Given By Candidate:- Dominic Thiem / sifdifores férosr, Option ID : -6722
Correct Answer :- Dominic Thiem / sififoiw féroa Option ID :- 6722

Question ID:- 1682
In 2018 Indian movie 'GOLD’, the lead role of "Tapan Das" was played by whom
among the following?

2018 aefier sRdR Rique "siics’ arddiar "aue g1’ Iz wrclieitidl sjfdret aoft aeft aldl?
Options:-

sAamir Khan / siiiz 71, Option ID :- 6725,

sAkshay Kumar / sigr1 gair , Option ID :- 6728,

«Nawazuddin Siddiqui / sagféa Rifzst , Option ID :- 6727,

«Vicky Kaushal / fadt asiercr , Option ID :- 6726,
Answer Given By Candidate:- Vicky Kaushal / fat ostorer , Option ID : -6726
Correct Answer :- Akshay Kumar / sigr gz Option ID :- 6728

Question ID:- 1683
Which of the following is/are renewable source(s) of energy?

Zrctiertidl Bt st Fqia adiavrRie 33/ 3m3a?
Options:-

= All of these / aiantidt ad , Option ID :- 6732,
«Hydropower / sefdga , Option ID :- 6729,
«Solar / iz, Option ID :- 6730,

«Wind / uaar , Option ID :- 6731,
Answer Given By Candidate:- All of these / aizmicr ad , Option ID : -6732
Correct Answer :- All of these / It ad Option ID :- 6732

Question ID:- 1684
Viswanathan Anand is an Indian

fereqeInerst ailoic Uab eI 313,
Options:-

«Bollywood Actor / difergs siféoiar , Option ID :- 6734,
«Chess Player / gfgas @wers , Option ID :- 6735,
sCricketer / figadcz , Option ID :- 6736,

= Political Leader / asidbia oiar, Option ID :- 6733,
Answer Given By Candidate:- Chess Player / gfgas Wars , Option ID : -6735
Correct Answer :- Chess Player / gfges Wers Option ID :- 6735

Question ID:- 1685
Which of the below mentioned sports is not a part of olympic discipline?

reilel sg DocATicd] PIVIAI Wa 3ifcifdus Haiar e e orél?
Options:-




«Boxing / diféisr , Option ID :- 6738,
s Cricket / f&gac , Option ID :- 6739,
«Fencing / wfosr , Option ID :- 6740,

«Volleyball / gicidicr , Option ID :- 6737,
Answer Given By Candidate:- Cricket / figac , Option ID : -6739
Correct Answer :- Cricket / figasec Option ID :- 6739

Subject : MIDC_CTO01_AUG21_LA

Question ID:- 855
Find the missing term of the series from the following given options:-
FXGB, HXIB, JXKB, , NXOB.

ge fecican uRiiisger anferdsele sIRIT 3RTcIcll AT gltem: -
FXGB, HXIB, JXKB, , NXOB.
Options:-

«BLXL , Option ID :- 3420,
«LXMB , Option ID :- 3417,
«PXOX , Option ID :- 3418,

« XKMB , Option ID :- 3419,
Answer Given By Candidate:- LXMB , Option ID : -3417
Correct Answer :- LXMB Option ID :- 3417

Question ID:- 856
Find the missing term of the series from the following given options:-
ELFA, GLHA, ILJA, ;, MLNA.

ge fecican uRiiisgor aferdseilel SIRI 3RIcIcll AT 9lie: -
ELFA, GLHA, ILJA, ;, MLNA.
Options:-

«GOLB , Option ID :- 3423,
.KLLA , Option ID :- 3421,
.LOHA , Option ID :- 3422,

«0OJAC, Option ID :- 3424,
Answer Given By Candidate:- KLLA , Option ID : -3421
Correct Answer :- KLLA Option ID :- 3421

Question ID:- 857
Find the next number in the sequence from the following given options:-
30, 45, 90, 225, 675

ye fecicn uafiags qumerercil géier s oen: -
30, 45, 90, 225, 675
Options:-

»1234.5, Option ID :- 3425,
22362.5, Option ID :- 3426,
:3454.6, Option ID :- 3427,

2 7645.2, Option ID :- 3428,
Answer Given By Candidate:- 2362.5, Option ID : -3426
Correct Answer :- 2362.5 Option ID :- 3426

Question ID:- 858
Direction: Choose the appropriate option that logically satisfies the given statements




followed by the conclusions. Statements: Some cows are crows. Some crows are
elephants.

Conclusions:-

I. Some cows are elephants.

II. All crows are elephants

fordor: forsuia Uretol wum=an iciiel fScican faemeiil arasioescan geddar wvmen i u=ai forast.  faermet: ol
SIRAl AT PIad 3. DIAG el S,

forsaoet: -

I. ordl am=fl a1 &+l s
I1. ud oras &b sa.
Options:-

«both I and II / I a II <isét, Option ID :- 3431,
sneither I nor II / om I ar II , Option ID :- 3432,
sonly I conclusion follows / @awo I forsaod urcror @w2al , Option ID :- 3429,

sonly II conclusion follows / @aws 11 forcad urerer w2l , Option ID :- 3430,

Answer Given By Candidate:- only I conclusion follows / @aw I forsat urcror @zl , Option
ID : -3429

Correct Answer :- neither I nor II / air I ar II Option ID :- 3432

Question ID:- 859
Choose the word from the following given options to replace the question mark:-
Safe : Secure :: Protect : ?

ye fecicn gaiiaget geiikiesrdl SIeN e AVIRT 9156 forast: -
Safe : Secure :: Protect: ?
Options:-

sAssure, Option ID :- 3433,
sDestroy, Option ID :- 3435,
«Endanger, Option ID :- 3436,

«Ignore, Option ID :- 3434,
Answer Given By Candidate:- Endanger, Option ID : -3436
Correct Answer :- Assure Option ID :- 3433

Question ID:- 860

Choose the number which will come next in the series from the following given
options.

5.2,4.8,4.4,4, ...

5.2,4.8, 4.4, 4, ..
Options:-

«2.5, Option ID :- 3437,
« 3.6, Option ID :- 3440,
26.5, Option ID :- 3439,

=8.4, Option ID :- 3438,
Answer Given By Candidate:- 3.6, Option ID : -3440
Correct Answer :- 3.6 Option ID :- 3440

Question ID:- 861
Directions: The question is based on the following arrangement of
letters/numbers/symbols. Study them carefully and answer the question given below.

SHB3%TIL4$E6F1RM@A#BD28U&C




If first five and the last five elements are written in reverse order, how many symbols
are there that will be immediately followed by a letter?

fordor: yeat sigrRican/ sirpsaican / Ricsican gdier ¥aoiar 3menf¥d 313, <A BIGsNydd M9ATA Dol Hlcil ferean
QoI 3T L.

S5HB3%TIL4$E6F1RM@A#BD28U&C

SR ufdel ura q e ure "ed IeacAl @ad ferdial, a= fipdl Rise sridiar s ceiierTt ge 31gR 3R¥er?
Options:-

«five / ura, Option ID :- 3444,
«four / arz, Option ID :- 3443,
sthree / i, Option ID :- 3442,

«two / dla1, Option ID :- 3441,
Answer Given By Candidate:- five / ura, Option ID : -3444
Correct Answer :- five / ura Option ID :- 3444

Question ID:- 862
Directions: The question is based on the following arrangement of
letters/numbers/symbols. Study them carefully and answer the question given below.

SHB3%TIL4$E6F1RM@A#BD28U&C

How many such numbers are there in the above arrangement each of which is
immediately followed by a symbol and also immediately preceded by a letter?

fordor: ysat sigrRican/ sipsaican / Ricsican gdiel Faoiar 3menf¥d 3113, A BIasNyYdd 39ATA Dol et ferean
g% 3R ZIL.

S5HB3%TIL4$E6F1RM@A#BD28U&C

asdlel Faoiaed 31 fpedl 33 3RIdlel SN cPliceT Ye fRIes 3Rl aRid celicrdl 3iell 18R 3RIcl?
Options:-

«four / ar, Option ID :- 3448,
sone / v, Option ID :- 3445,
sthree / dioi, Option ID :- 3447,

«two / glar, Option ID :- 3446,
Answer Given By Candidate:- one / v , Option ID : -3445
Correct Answer :- one / v Option ID :- 3445

Question ID:- 863

Here are some words translated from an artificial language:- gorblflur means fan belt
pixngorbl means ceiling fan

arthtusl means tile roof

tusiflur means roof belt Which word could mean "ceiling tile"?

QT Dfefer ANl HIdidiya deicl 59 oIdl 91sg sda:- gorblflur ssvra fan belt
pixngorbl sevm ceiling fan

arthtusl ssum tile roof

tuslflur ssvm roof belt

v orseren 3ref 'ceiling tile" srar fordrer?
Options:-

«flurart, Option ID :- 3450,
sgorbitusi , Option ID :- 3451,




snone of these / aitid! vwrarEl odl , Option ID :- 3452,

spixnarth , Option ID :- 3449,
Answer Given By Candidate:- pixnarth , Option ID : -3449
Correct Answer :- pixnarth Option ID :- 3449

Question ID:- 864
Choose the one from the following given options which is different from others:-

Ye fecican ualaiagel SaRIUSH dsToI 3RIVIIFATC forast:-
Options:-

«AIUE, Option ID :- 3453,

«PURE, Option ID :- 3455,

« TORE, Option ID :- 3456,

« VALE, Option ID :- 3454,
Answer Given By Candidate:- AIUE, Option ID : -3453
Correct Answer :- AIUE Option ID :- 3453

Question ID:- 865
In the following question, select the odd one out from the given alternatives:-

ye e uataiaest, frista srrvnaren forast: -
Options:-

«11 x 1, Option ID :- 3460,

«11 + 1, Option ID :- 3459,

«»121 = 11, Option ID :- 3458,

55 - 44 , Option ID :- 3457,
Answer Given By Candidate:- 11 + 1, Option ID : -3459
Correct Answer :- 11 + 1 Option ID :- 3459

Question ID:- 866
If 'books' is called 'watch’, 'watch’' is called 'bag’, 'bag’ is called 'dictionary’' and
'dictionary’ is called 'window’, which is used to carry the books?

sz 'books’ o 'watch' ssca s, 'watch' a1 'bag’ ssea s, 'bag’ o 'dictionary’ ssecd sa ara
'dictionary’ e 'window' saca s, a2 books st alvardt oRI arRRIen 37?2
Options:-

«Books , Option ID :- 3462,
«Dictionary , Option ID :- 3461,
sNone of these / witidt vowrarét oiiél , Option ID :- 3464,

« Watch , Option ID :- 3463,
Answer Given By Candidate:- Dictionary , Option ID : -3461
Correct Answer :- Dictionary Option ID :- 3461

Question ID:- 867

In a class of 75 students, where boys are twice that of girls. Dhanuja ranked thirteenth
from top. If there are four girls ahead of Dhanuja, how many boys are after her in
rank?

75 faeneil sricical uwl ge1id, el e el guue 3113, ElolSIIcl deol dRIdI RAID YIH 3I3. SR EolSIAl Je AR
Jctl 3raddler, a= fereen Gdimeiar bl ol srdlar?
Options:-

=40, Option ID :- 3465,
=42, Option ID :- 3466,




=44, Option ID :- 3467,

=46, Option ID :- 3468,
Answer Given By Candidate:- 46, Option ID : -3468
Correct Answer :- 42 Option ID :- 3466

Question ID:- 868

Five girls are sitting on a bench to be photographed. Seema is to the left of Rani and to
the right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is
third from the left?

Qo] dIPIa? Urd Hell BIcl PIGUITRATST e ndd. Hiar 8l el srdids aia figean Seidios sng. a3 1 ueiien
Fordips 3113, et 31 Aofl a I A9l 3R, AR SIdipgel R SIPfl BIvT 3RIA €37
Options:-

«Mary / a3, Option ID :- 3472,
=«Rani / clt, Option ID :- 3470,
=sReeta / §e, Option ID :- 3469,

sSeema / fiam, Option ID :- 3471,
Answer Given By Candidate:- Rani / i, Option ID : -3470
Correct Answer :- Rani / it Option ID :- 3470

Question ID:- 869
In an Exhibition seven cars of different companies - Cadillac, Ambassador, Fiat, Maruti,
Mercedes, Bedford and Fargo are standing facing to east in the following order:-

a) Cadillac is next to right of Fargo.

b) Fargo is fourth to the right of Fiat.

c) Maruti car is between Ambassador and Bedford.

d) Fiat which is third to the left of Ambassador, is at one end. Which one of the
following is the correct position of Mercedes? udt ygolemaned fafireor wucenicm AT sTrs=m -
D3cld, AARI1ST, fbare, AR, AREIE, dswIS a BrEIl ydia ol gdms dis dsel 39T 8=~

a) di3cie wEilen Isdiosdin gaedl 313.

b) weff & fsacwn serdies dlefl .

C) ARl R 3t fdRIST a IswISwn A9 3I1R.

d) fisare & sidlsurgs sidiesia iRl a3, Sit uat Awren 3IrR.

gélerticht ARSIsrd e sen dlvrdl sm?

Options:-

sBetween Fiat and Maruti / fisane a aiRsdicen s1ed , Option ID :- 3475,
«Fourth to the right of Maruti / arsdicn Ssdiesa dieft , Option ID :- 3476,
«Next to the left of Bedford / aswiszn sidiwsdicn aseht , Option ID :- 3474,

«Next to the left of Cadillac / aT3ciaen sidiwsdicn aht , Option ID :- 3473,

Answer Given By Candidate:- Next to the left of Cadillac / @Rciown sidiwsdicn asd ,
Option ID : -3473

Correct Answer :- Fourth to the right of Maruti / arsdicn Ssidiosa diet Option ID :- 3476

Question ID:- 870

How many days will there be from 26" January, 1996 to 15" May, 1996 (both days
included)?

26 sorarst 1996 urget 15 3t 1996 wia (K168l Gasiien eReot) fpefl fSa=t aldiar?
Options:-

«111, Option ID :- 3478,
=200, Option ID :- 3480,
210, Option ID :- 3477,




229, Option ID :- 3479,
Answer Given By Candidate:- 111 , Option ID : -3478
Correct Answer :- 111 Option ID :- 3478

Question ID:- 871
In the following question, select the odd one out from the given alternatives:-

géle yssiiaed, fcican faoeuiurye fazisd sRiccrel forasr: -
Options:-

«Biology / Sfiaenz< , Option ID :- 3481,
«Chemistry / wreonzg , Option ID :- 3482,
sMethodology / ussdienyg , Option ID :- 3484,

sZoology / givitenzq , Option ID :- 3483,
Answer Given By Candidate:- Methodology / uesdionzq , Option ID : -3484
Correct Answer :- Methodology / uesdionzq Option ID :- 3484

Question ID:- 872

Arrange the given words in the sequence in which they occur in the dictionary and
choose the correct sequence.

1. Economics

2. Earlier

3. Each

4. Edition

5. Eager

fecicl orsc 319 GTa eIl SAEPE d RRaeerRlda Adra a cadn Als G forast

1. Economics
2. Earlier
3. Each

4. Edition
5. Eager
Options:-

«1,2,4,3,5, Option ID :- 3486,
«1,3,5,2,4, Option ID :- 3488,
«2,4,1,3,5, Option ID :- 3487,

«3,5,2,1,4, Option ID :- 3485,
Answer Given By Candidate:- 3,5,2,1,4 , Option ID : -3485
Correct Answer :- 3,5,2,1,4 Option ID :- 3485

Question ID:- 873
Find the missing number from the following given alternatives:-
3,10, 101, ?

fecican famcuiaggel s3dcicil Fzoar one: -
3,10, 101, ?
Options:-

«10001, Option ID :- 3490,
«10101, Option ID :- 3489,
+10202, Option ID :- 3492,

«11002, Option ID :- 3491,
Answer Given By Candidate:- 10202, Option ID : -3492
Correct Answer :- 10202 Option ID :- 3492

Question ID:- 874
Find the missing number from the following given alternatives:-




1,1,4,8,9,27,16,?

fecican faacuiagel s3dcicil Fzoar onen: -
1,1,4,8,9, 27,16, ?
Options:-

=100, Option ID :- 3496,
=121, Option ID :- 3495,
«125, Option ID :- 3494,

164, Option ID :- 3493,
Answer Given By Candidate:- 64, Option ID : -3493
Correct Answer :- 64 Option ID :- 3493

Subject : MIDC_CTO01_AUG21_MS

Question ID:- 2136
Which of the following topics is not a part of the Chapter I1I of the Maharashtra
Industrial Development Act, 1961?

Hrcficrtichl BIoTarn farerr #erreg 3iienf3e frbrT BRIcT ¢3¢ @ gw2ur 111 a1 siet oidi?

Options:-

sDirections by the State Government / I 31ewrRa sicer, Option ID :- 8542,

s Functions of the Corporation / seuiserd «ri, Option ID :- 8543,

sGeneral powers of the Corporation / ssriser adaenrur siffrer, Option ID :- 8541,

sPower of the Corpoaration to borrow / sgriser oot 3%t ovar siférerz, Option ID :- 8544,
Answer Given By Candidate:- Power of the Corpoaration to borrow / sguiser oot 3%
o2 siftrerz, Option ID : -8544

Correct Answer :- Power of the Corpoaration to borrow / sguisar oot 331 v siféror
Option ID :- 8544

Question ID:- 2137
As per the provisions of Section 24 (1) of the Maharashtra Industrial Development Act,
1961, the Corporation can make provisions for which specific kind of funds?

FBRISE, HENfID fIPTRT BRICT 22¢ ¢ & ey () Atha RGSIIRIR #Aerise Wicfiertid dlvren fafdrse forefiadt
ARG D+ ADA?
Options:-

sexcess / sifafws , Option ID :- 8547,
«forefeited / zamastya , Option ID :- 8545,
sgeneral / adaremsor , Option ID :- 8548,

sspecially denominated / fadiucara am@nifeea , Option ID :- 8546,

Answer Given By Candidate:- specially denominated / fagrucare osmaifesa , Option ID : -
8546

Correct Answer :- specially denominated / fiotucara sisnifesa Option ID :- 8546

Question ID:- 2138

As per the provisions of Section 23 of the Maharashtra Industrial Development Act,
1961, the Corporation may accept deposits from persons, authorities or institutions to
whom allotment or sale of which of the following is made or is likely to be made?

HBRISE, IENOID fADRT BRIGT 2862 T Detd 23 Hellel ArSloRIR Hiciicrticd] wivican drdiad fadu1 wuARIST
ABRISH RATbl, Yiftrapul fpdr JTUidssl GIHd IPIAT IAIDRs 9D ?
Options:-




sbuildings / sadl , Option ID :- 8549 ,
sOffices / =i , Option ID :- 8550,
srail roads / ¥ca ast , Option ID :- 8552,

syards / as , Option ID :- 8551,
Answer Given By Candidate:- buildings / sardl , Option ID : -8549
Correct Answer :- buildings / sard Option ID :- 8549

Question ID:- 2139

Section 29 (1) of the Maharashtra Industrial Development Act, 1961 specifially deals
with which of the following other Statute's applicability to the premises belonging,
vested or leased by the Corporation?

FBRISE, ENfEID PRI BRICT 22¢ ¢ I e 28 () ALhiar RISIFRIR ATHISHIR ArCIDbI, dreITdler 3rerar
IS0l AdTCIcAI ARI diddla Hietliciticdhl I PRI Y dldra?
Options:-

«Bombay Government Premises (Eviction) Act, 1955 / jja 9l sieran (forseRist) oRIc,
tsyys , Option ID :- 8556,

«Maharashtra Rents Control Act, 1999 / serisg arsS foriqur wrRIcr, ¢33 , Option ID :- 8554,
«The Bombay Stamp Act, 1958 / s ggio® siftiforman, 293¢ , Option ID :- 8555,

s The Code of Civil Procedure, 1908 / s Stamfl gfepan zifdar :so¢ , Option ID :- 8553,
Answer Given By Candidate:- Bombay Government Premises (Eviction) Act, 1955 / 3=
9IRIbRI SiEren (forsebrIol) @rIcI, 23y , Option ID : -8556

Correct Answer :- Bombay Government Premises (Eviction) Act, 1955 / 3af onmeidbla Sieren
(forswrera) wrRIGI, 233y Option ID :- 8556

Question ID:- 2140

As per the provisions of Section 29 (2) (a) of the Maharashtra Industrial Development
Act, 1961, which of the following authority can appoint an officer not lower in rank
than a Deputy Collector or an Executive Engineer to be the competent authority?

FBIRISE, 3MENf3rD fardrRT BRIGT 293¢ ¢ @ wad 28 (R) (31) aLha RSITIR Frcfiertidt BIvid grferasor
SufStealferdrl fodr PRIGRI fRIAr ATULT HTCTRT USTaR slRAcicl fAPRAT sIAvID A AURIDPRL F8UI6eI Bw
I ?

Options:-

s Collector of the District / ficam fcarférsrs , Option ID :- 8558,
=« Corporation / seuiss , Option ID :- 8560,
«Judge of a Civil Court / Samfl sarncr sarmefier , Option ID :- 8557,

«State Government / isa w=ewr , Option ID :- 8559,
Answer Given By Candidate:- State Government / a1 ez , Option ID : -8559
Correct Answer :- State Government / sa 31zar Option ID :- 8559

Question ID:- 2141

As per the provisions of Section 34 (1) of the Maharashtra Industrial Development Act,
1961, any person who is aggrieved by the decision of the Collector determining the
amount of compensation may approach the Court with his application with in what
duration of the making of such decision by the Collector?

FBRISE, 3MTENfErD faPRI BRIGT 293¢ ¢ < wad 3% (?) Fehia RSIRIR vErdl bl Ricaiferarzuieh forerfya dacan
AGCATRT IDATE RIALETGH 31l R ferol RicaIfimRIioll 3111 forvir dcamurol feodl wreasiia sARICRI®GS gIg
JAEIRIC 31?
Options:-




«fifteen days / derr Rasr , Option ID :- 8561,
«forty five days / ddardia feasr , Option ID :- 8563,
sninety days / orcac &a=r , Option ID :- 8564,

sSixty days / w10 gz, Option ID :- 8562,
Answer Given By Candidate:- sixty days / a6 feasr , Option ID : -8562
Correct Answer :- sixty days / o f&awr Option ID :- 8562

Question ID:- 2142
Section 36 of the Maharashtra Industrial Development Act, 1961 primarily deals with
which of the following subject?

HBRISE, HENfErD fAPRT BRIGT 2262 A Deld 3¢ Wicilertdl Plvren fau=nefl ggreael forerf3a sma?

Options:-

sAudit of Deposits received by the Gram Sabha / spasicn f3wicicen 3did crarmadigior, Option
ID :- 8566,

sDistress Relief Funds / snuxi forarrur foreft, Option ID :- 8568,

«Investments of the Corporations funds / serisern forefih sjaaues, Option ID :- 8565,

«Payment of compensation / slaccarit 2a®a sic1 w1, Option ID :- 8567,

Answer Given By Candidate:- Payment of compensation / slaccarit :awa 31 w201, Option
ID : -8567

Correct Answer :- Payment of compensation / slaccard zaoa sicr wwur Option ID :- 8567

Question ID:- 2143

As per the provisions of Section 35 of the Maharashtra Industrial Development Act,
1961, the Collector may refer a dispute to which of the following authority for its
resolution?

HBRIEE 3MENEID fADRI BRICT 2262 I detd 38 Aellel dRSloRAR ficaIitipRl fadars wicilertid! dluren
JIf[puIs I forarvIRIst ureq Irpdra?
Options:-

«Corporation / sesriss, Option ID :- 8570,
«Court / sarmerr, Option ID :- 8572,
s District Government / fiicar yemzior, Option ID :- 8569,

«State Government / i=a weor, Option ID :- 8571,
Answer Given By Candidate:- Court / sarmer;, Option ID : -8572
Correct Answer :- Court / sarmerr Option ID :- 8572

Question ID:- 2144

As per the provisions of Section 36 (3) of the Maharashtra Industrial Development Act,
1961, which of the following authority shall be liable to deposit the amount of
compensation in the Court in case of any contingencies?

FBIRISE, 3HTENPD PRI BRIGT 2382 @ dad 3¢ (3) Feha aRgdloRir Ficliertid! ®Ivrd gifermur srplRas
uf¥f¥erdia Maccart Ja6d RIRICRITA ST BV SIAIEIGR 31?7
Options:-

= Collector / ficaiférordt , Option ID :- 8574,
=« Corporation / seuiss , Option ID :- 8575,
s District Government / fiicar yemor , Option ID :- 8576,

«State Government / isa w3wwr , Option ID :- 8573,
Answer Given By Candidate:- Corporation / ssnisas , Option ID : -8575
Correct Answer :- State Government / isa 31zer Option ID :- 8573

Question ID:- 2145




Sub-section (3A) of the Section 33 was inserted in which of the following years to the
Maharashtra Industrial Development Act, 1961?

rciierticl BIvi adfd doed 33 d Uledhetd (331) ATRISE HeNPIh fADRT BRIGT 293¢ ¢ HE HdAfdse BvATA 31T ?
Options:-

+1965 / 3¢y, Option ID :- 8578,
«1967 / :3¢v, Option ID :- 8580,
«1968 / :3¢¢, Option ID :- 8577,

«1975 / :3vs , Option ID :- 8579,
Answer Given By Candidate:- 1975 / :svs , Option ID : -8579
Correct Answer :- 1975 / 2sus Option ID :- 8579

Question ID:- 2146

As per the provisions of Section 33 (4) of the Maharashtra Industrial Development Act,
1961, which of the following specific authority shall give an opportunity to every
person who is to be compensated to state his case as to the amount of compensation?

FBIRISE, 3HENPrD fadrRT BRIGT 2382 < dad 33 (¥) Heha RgdloRir Ficfiertid! aivid fafdre gifermpur Alacen

f&etr SR wIchlell AldceRAIag Rl Uc FaUI01 HiSUARI el $a?
Options:-
= Collector / farcaiférordt, Option ID :- 8584 ,

=« Corporation / ssuiss, Option ID :- 8581,
=« Court / sarencrr, Option ID :- 8582,

«State Government / i=a wwor, Option ID :- 8583,
Answer Given By Candidate:- State Government / isa awor, Option ID : -8583
Correct Answer :- Collector / forcarféiorst Option ID :- 8584

Question ID:- 2147
Section 50 of the Maharashtra Industrial Development Act, 1961 primarily deals with
which of the following subject?

HBRISE, ENRIP DRI DRIGT :2¢2 A Detd Yo HMiclicttid! Pluren fau=efl ygerol foeifsd 3ma?
Options:-

«Overriding powers of Collector to issue directions to the local authorities / zenform
grferas2ution 3n¢er WA Ricsifermizia sifére J9w sifeérsrz , Option ID :- 8587,

«Overriding powers of Corporation to issue directions to the local authorities / Fenforw
QIfers3uTiol 319 JWI ABHIs®HI ferd Adw sifrer , Option ID :- 8585,

sOverriding powers of Court to issue directions to the local authorities / renforw
gIfIap2uTicll 3T SR SIRIICRIR 3iférs Aga siférsrr , Option ID :- 8588,

«Overriding powers of Government to issue directions to local authorities / zenforws
QIf2rB3uTiol 3IC9I WA IS IRPIRA 3ifers waw siffrorr , Option ID :- 8586,

Answer Given By Candidate:- Overriding powers of Corporation to issue directions to
the local authorities / renfsrw giféras2vrion stcer Svar AeRis®R 3iftrs A9 siféror , Option ID @ -
8585

Correct Answer :- Overriding powers of Government to issue directions to local
authorities / >enfore giferasuricir 3191 STATA 25 FRBIRA 3ifers JAaa iferprz Option ID :- 8586

Question ID:- 2148

As per the provisions of Section 50A of the Maharashtra Industrial Development Act,
1961, what is the distance within which, if the land which is to be converted for non-
agriculture, industrial use should to be situated, for the Collector, if he deems fit, to
order an inquiry on receiving specific objection to such conversion by the Corporation?




HBRISE, MNP fADRT DRIGT 2862 T Detd You Hellel ARGSIORIR vHrEn SIfdeiicdl diuRrl fer-adl, siienfm
AR 3R] PUIR AEHISHIDIE DIVARIT 3D YId el R 3191 diaedia dicpofid siigor Sul Rrcaif2rpIedion dlsn
arcvAaRISt si9ft swfior fepedl fosa (siaeren ) 3R adl?

Options:-

=10 kilometers / 2o fosapiicd , Option ID :- 8589,
=20 kilometers / 20 fosaficd , Option ID :- 8591,
«5 kilometers / s foocisficaf , Option ID :- 8592,

« 7 kilometers / v fdvciisiicst , Option ID :- 8590,
Answer Given By Candidate:- 10 kilometers / 2o fdvcigiicet , Option ID : -8589
Correct Answer :- 10 kilometers / 2o fesasficet Option ID :- 8589

Question ID:- 2149

As per the Explanation to the Section 50A of the Maharashtra Industrial Development
Act, 1961, a "small scale industry"” specifically means an industry which has a capital
investment in plant and machinery of not more than which of the following amount?

FBRISE, MENPIP BRI BRICT 23¢ ¢ TAT BldA Y03 T IUSEIBIIRIST THIGT 3eiel " erg-3elel’ AT gofarsia
HAISWIRIIST SIPI 4 AGRIEBE[IdIe daIel disacil sjaauld el sRIRIcn adi?
Options:-

sRupees Fifty Lakhs / 3ud ucort ara , Option ID :- 8594,
«Rupees One Crore / 3w ¢ ®1ét, Option ID :- 8593,
sRupees Ten Lakhs / 3u? gar arza , Option ID :- 8595,

sRupees Twenty Lakhs / 3u? dis1 arza , Option ID :- 8596,
Answer Given By Candidate:- Rupees Ten Lakhs / su? gar aza , Option ID : -8595
Correct Answer :- Rupees Ten Lakhs / 3u3 gar ara Option ID :- 8595

Question ID:- 2150

As per the provisions of Section 51 of the Maharashtra Industrial Development Act,
1961, the recoveries of sums, charges, expenses etc. by the Corporation shall be
recoverable as an arrear under which of the following head?

HBRIEE 3MENEID fADRI BRIGT 2862 T detd Y2 Hellel dRSloRIR Wiciicrtidl wIvicar aofardizarcit AsEHs®IC AT
SRIVIYI IDdl, 9cd, I 5. ADdID] J8UJo1 dcl DPUART Ul 3RIdIe1?

Options:-

s Collector revenue arrear / Sicaiferort sgga awpardht , Option ID :- 8598,

«Indusrial development charges arrear / sfiifdie faw=1e 9c® agwmardt , Option ID :- 8599,
«Infrastructural development revenue arrear / sprcaazd fa@waa asge awmarhbt , Option ID
:- 8597,

«Land revenue arrear / siiiel 3153t awardt , Option ID :- 8600,

Answer Given By Candidate:- Indusrial development charges arrear / sieifiie fmaa oca
erparst , Option ID : -8599
Correct Answer :- Land revenue arrear / seila sis3a awardt Option ID :- 8600

Question ID:- 2151
Section 59 of the Maharashtra Industrial Development Act, 1961 primarily deals with
which of the following specific subject?

FBRISE, 3ENRIP PRI BRICT 238¢ A DA Y3 HMicilcrtic! dIvren frermeft ygpemol foeifsa 3ma?
Options:-
sAuthority for dissolution / farrce a2 siférprz, Option ID :- 8602,

«Authority for filing financial statements / fazfier uzaa a6z v sif2rer, Option ID :- 8604

4




sAuthority for prosecution / zcar aeavar siférerr, Option ID :- 8603,

sAuthority for serving notice / siéla1 st w2vama siférsrz, Option ID :- 8601,

Answer Given By Candidate:- Authority for prosecution / wcar ceavanr siférerz, Option ID :
-8603

Correct Answer :- Authority for prosecution / wcen ceavanrt sif2rerr Option ID :- 8603

Question ID:- 2152

Which of the following clause of the sub-section (2) of Section 63 of the Maharashtra
Industrial Development Act, 1961, specifically deals with the power of making rules on
the manner of maintaining accounts as given under Section 27 of the Maharashtra
Industrial Development Act, 1961?

RIS, AENPIP BRI BRICT :3¢¢ A Bt €3 A Ulewed(R) A WiciicTtichl DIV IU-Beld RIS, AN fadprt
DRICT 2852 T Detd RV AL &=l ofAR 3919 davardl ugd seavare drdcdidact ore dorquart siférorR gofad?
Options:-

«Clause (d) / 3u-oaa ($1) , Option ID :- 8606,
«Clause (e) / su-waa (3) , Option ID :- 8605,
«Clause (f) / su-wax (vw) , Option ID :- 8608,

«Clause (g) / su-oaa (sit) , Option ID :- 8607,
Answer Given By Candidate:- Clause (d) / su-waax (1) , Option ID : -8606
Correct Answer :- Clause (f) / su-@waa (vw) Option ID :- 8608

Question ID:- 2153
Section 50A of the Maharashtra Industrial Development Act, 1961 was inserted in
which of the following years:-

Arciier @ocn Arctl ABRIS, HENPID PRI DRICT 22¢ 2 ALA BeIH Y03 AT AATAI DV I ?
Options:-

=« 1965 / 3¢y, Option ID :- 8610,
«1972 / 2392, Option ID :- 8609,
«1975 / :3vs, Option ID :- 8612,

1988 / :3¢¢, Option ID :- 8611,
Answer Given By Candidate:- 1972 / :3uy:, Option ID : -8609
Correct Answer :- 1975 / :3us Option ID :- 8612

Question ID:- 2154

What is the maximum period of time, as per the provisions of Section 44 (1) of the
Maharashtra Industrial Development Act, 1961, for an empowered officer of the
Corporation to order the demolition of any illegitimate erection, building or
construction that is made in contravention of the allowed and agreed terms?

HBRISC, HENPID PRI BRICT 22¢ 2 I e ¥¥ () Aefiar RSIFAR sEafiramd surRll, AR rerar dier®n, S
3iolacil fScicen a JAroRn oIl $15T DIel IHRC IRIC d UISURIRIIST deHisorc JIfergd ferprRare faodl waren
oA seRYd 33?

Options:-

seighteen months / s afzar , Option ID :- 8613,
snot exceeding ten months / sar afgcaien siférs sidl , Option ID :- 8615,
snot exceeding two months / cior aidcaen siféres aidl , Option ID :- 8614,

«SiX months / s@r aar , Option ID :- 8616,

Answer Given By Candidate:- not exceeding two months / ciar sifdgsaiaen sifera sigt , Option
ID : -8614

Correct Answer :- not exceeding two months / cia afdsrniagn sif2res adl Option ID :- 8614

Question ID:- 2155




Which of the following clause of the sub-section (2) of Section 63 of the Maharashtra
Industrial Development Act, 1961, specifically deals with the power of making rules
regarding the fees which may be charged by the Corporation?

BRI, 3MENPID DRI BRIST :3¢¢ A Bard £3 A Ulewad () I Hichiatidl DIV IU-deld AGHSDIGR ATDIRUATT
JAUIL 9Icd FIAUATEIT dIdcdidc foRe Joiauard Iferpr gofaa?
Options:-

sClause (h) / su-oaa (va) , Option ID :- 8618,
sClause (i) / su-oau (sm=1) , Option ID :- 8619,
«Clause (j) / su-@aax (31) , Option ID :- 8617,

sClause (k) / su-@aa (a5) , Option ID :- 8620,
Answer Given By Candidate:- Clause (i) / su-oaa (amr=) , Option ID : -8619
Correct Answer :- Clause (j) / su-oaa (s1) Option ID :- 8617




